FRERHRRETHE FRHR

RHTF0S 1456 BIRFNE 238, 440kg
HER IRFEMEAS 206, 800kg
*2E REMEs | BEAE S8 ¥ FEith =@ | BE  |RENE RS 4E
(kg) (kg) =1E B =&

T A 18,000 |t Y 0 — ] —
BRHERE EHE 10kg | 18,000 1,620 —| 1,512

ZA CA 15,000 |t Y 0 ] —
8% R3] FzE 10kg | 15,000 —| 27000 -

[E< &L 7,000 |&Y 0 — ] —
BRHERE S 12kg 7,000 1,080 — 756

FrRy 13,000 |& Y 0 ] —
8% ER 3| e 12 10kg | 13,000] 1,296 -— 648

ES5NAZS 4,800 |+ Y 0 — ] —
BRHERE AR 170g 4, 800 19| — 108

o3 9,000 &Y 0 ] —
8% ER 3| e 12 bkg 9,000 2,376] — 1,620

=5 2,900 | 0 — ] —
BRHERE AR 100 g 2,900 - 65|  ——

L& X 15,000 |t Y 0 ] —
8% ER 3| EFHE 10kg | 15,000] 1,944  -—— 1,728

x5y 5,000 |&Y 0 — ] —
BRHERE AR 5kg 5, 000 —| 2,160] —-




FRERHRRETHE FRHR

AHIF06 1456 WIRFE YR 238, 440kg
i RS E A R 206, 800kg
T aE REMEE | TEAE o7 TE z@ | Ef |[RRNE FRei
(kg) (kg) =fE & =il
HY 5000 (€Y 0 — —_— -—
fExTELSE| =yt 350¢g 5,000 — 216 —_—
< b 8,000 &Y 0 —_— —_— _—
AT ER 5| N 4kg 8, 000 — 1,620 —_—
E—<> 3,000 (€Y 0 — —_— -—
fExTELSE| T I 15 150 g 3,000 108 — 97
[Fhivl & 15,000 | Y 0 —_— —_— _—
AT ER 5| RIFE 10kg 15, 000 — 2,160 —_—
f-FhF 23,000 [2Y N 20kg 3, 000 — 2,700 -—
fExTELSE| N 20kg 20, 000 — 3,024 —_—
S LULNV=IT 500 (&Y 0 - —_— —
AT ER 5| N 100 g 500 130 —_— 65
AATRSS 3,000 &Y 0 — —_— —
fExTELSE| N 500 g 3, 000 —_— 140 —_—
ZEDOH 2,000 €Y — e —_—
FExTER S| 200 g
xS 1,000 &Y
fAEE| tke




FRERHRRETHE FRHR

kL A BERFENE 238, 440kg
B BRFE s E &5 206, 800kg
*2E BREHEH | =E5hE g T =g | B |REkE RS EE
(kg) (kg) =iE H{E ZiE

Lw A=< 1,000 |[&Y 0 __ — ___
A i 18 150 g 1,000 194 — 130
ZDELEH 1,000 [&Y 0 _ - -
PRSI E] EHE 200 g 1,000 — 76 —
HY—2F 285 600 &Y 0 _ - ——
A ENC] 100 g 600 194 — 140
MIEL o 0 [&#Y 0 _ - -
PRSI E] 0 — — —
SPRAES 0 [&Y 0 _ - ——
A 0 — — -
H=——LAR 1,000 [&Y 0 — — -
PRSI E] HARE dkg 1,000 1,404 — 864
= kv k 3,000 [&Y 0 _ - ——
A B 4118 200 g 3, 000 — 140 —
SOVAITFA 0 [&#Y 0 _ - -
PRSI E] 0 — — —
E565C2L 0 [&Y 0 _ - ——
A 0 — — -




SH7E06/ 146

FRERHRRETHE FRHR

BIRFTHE 238, 440kg
HX ERFEEHE S 206, 800kg
T&E BREHE | ZEAE L85 FEH = | B |REHE AR5 £ 5E
(kg) (kg) =iE th{E it
ZDHhFFE 50,000 |&73% — 50, 000 - _ —
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BRI 238, 440kg
RR RS E A 26, 640kg
Er= REMEH | SEAE S8 TEH =% | Bl |BENE IR 258
(kg) (kg) =iE H{E ZiE

DA 140 &Y of — — =
AREImEl AR K518 350 ¢ 10| | eag  —
A 500 | U of  — - =
ARmEl |50 =7 10kg 5000 —| 7020 —
T L—F I — 2000 |2 Y ol — 4 =
AR ARG w7 T 17ke 2000 —| 6480 —
NFF 3000 |2 Y of  — - =
AA%ERE | JAUEY 13ke 3000 3.888  —| 3 240
LT 500 | Y ol — — =
AR ARG AN 17ke 500 —| 7.560 —
1% 0 &Y of  — - =
AA%ERE | - I I —
RES 300 €Y ol — — =
EREE | AR 350 g 30  — o018  —
S HAIE 700 [¢Y ) S I E—
MAAmEl | L 300 ¢ 1000 —| 3240 —

=D 3500 | Y ol — 4 =
AREE | 7R e Okg 3500  —]| 16,200 —




FRERHRRETHE FRHR

AHIF06 1456 WIRFE YR 238, 440kg
25 RS E A R 26, 640kg
T aE REMEE | TEAE o7 TE z@ | Ef |[RRNE FRei
(kg) (kg) =fE & =il

T 500 |y of — —— —
fExTELSE| HagE 18kg 500 —_— 4 860 —_—

AL 1,000 [€Y of — — —
FEXTER S| TAYh 17kg 1,000 —-— 8, 640 —_—

AU T 9T 500 |€ Y of — — —
fExTELSE| J4)EY 10kg 500 — 4 320 —_—

Y4 TIN—Y 4,000 |[€Y of — - =
FEXTER S| —a—Y—5vFK 3. bkg 4,000 —-— 2,657 —_—

ZOMEE 10,000 [2A% — ) S A R—
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{AERE S E 238, 440kqg
Z Dt REHE AR 5, 000kg
FRE REHEH | =BH% oiE FEH = B |BRENE RS &4
(kg) (kg) =iE H{E ZiE
ZDith 5,000 (&A% - 5,000 —_— —_— —_—




